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(A) P=1.00
(B) P=0.50
(C) P=0.25
(D) P=0.00
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(A) T34 550> %% % 10
(B) T304 # 55 L& % 5
(C) T2 #c 40 &% 1 15
(D) T2 # 56 &% 2

3. & multi-trait multi-method matrix e &35 ¢ - @ * jpk > 2R E 3 FHF
AP BT o AR TE R AR 7
(A) % %]»x i (discriminant validity)
(B) g BI»x A& (predictive validity)
(C) p % »x & (content validity)

(D) % acrx i (convergent validity)
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5. ERlskenR R o EERZ Ad: 1 AT AL P?
(A) 50
(B) 60
(C) 70
(D) 80

6. FXFEHEL AFIL A 5100 BplkIET EEF 80 40 Fd gt 100 B RS AE
PZE 3 P E2 AR L
(A) 0.1280
(B) 0.3840
(C) 0.5904
(D) 0.8464
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10, 3 #3034 2 5 44 B A 0625 KA 1 0.32 0 Rl 4 8 s
S
(A) 0.15
(B) 0.30
(C) 0.45
(D) 0.60

11 BAHRT 6 b0 PO A4 5 0mE Ry Ho RN E R T 0 Rk
P(0) B 7 = & A
(A) FFHF L R
(B) #HE ¥ M|
(C) FHELH ey M
(D) FAE&Ew 0 R
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13.

14.

15.

Which one of the following analyses is the LEAST likely to be the main aim of an
individual item analysis?

(A) Difficulty analysis

(B) Distractor analysis

(C) ICC analysis

(D) Reliability analysis

(E) Discrimination Analysis

When the items in a scale are to be tailored specifically to individual participants
being assessed, the scale is most likely to be classified to which of the following
category.

(A) Interests assessments

(B) Personality assessments

(C) Neurological assessments

(D) Attitude assessments

(E) Adaptive assessments

Which scale has the most different aims from the rest of the following scales?
(A) Stanford-Binet

(B) WISC IV

(C) K-ABC

(D) WAIS

(E) MMPI

Which is the most distinguishable disagreement between a Rasch model and a
2-parameter IRT model?

(A) Difficulty analysis

(B) Distractor analysis

(C) ICC analysis

(D) Reliability analysis

(E) Discrimination Analysis



16. Which of the following tests is the LEAST relevant with a norm-referred
assessment design?
(A) College Entrance Exam
(B) Mental Ability Exam
(C) Driving Competency Exam
(D) Future Aptitude Exam

(E) Career Interest Exam
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1. @3 % & (reliability) ? 3 w8 fz- 5> 3872 (10 4)

2. WAL (difficulty) ? #ids & RIS 32w (classical test theory ) 12 % 32
32 F BRI % (item response theory ) = i grgkit g2 - (10 4 )



